
MATH 1100-A 2008 Quiz 1

1. Find the domain and sketch the graph of

f (x) =
2x� jxj
x

:

Solution: The domain is (�1; 0) [ (0;1) or fx : x 6= 0g :
Since

jxj =
�

x if x � 0
�x if x < 0

;

we have

f (x) =

�
2x�x
x

if x > 0
2x+x
x

if x < 0
;

=

�
1 if x > 0
3 if x < 0

:

The graph is
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2. Find the functions f � g and g � f where

f (x) = x2; g (x) =
x� 2
3x+ 1

:

Do not simplify.

Solution:

f � g (x) = f (g (x)) = f

�
x� 2
3x+ 1

�
=

�
x� 2
3x+ 1

�2
:

g � f (x) = g (f (x)) = g
�
x2
�

=
x2 � 2
3x2 + 1

:

�
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